
 

A. Choose the correct Answer: 

1. Which of the following is a plural noun? 

(a) cat   (b) dog 

(c) boys  (d) house 

2. The correct plural of "baby" is: 

(a) babys  (b) babies 

(c) babyes  (d) baby 

3. Which noun has the same singular and 
plural form? 

(a) goose  (b) sheep 

(c) fish   (d) Both (b) and (c) 

4. Which noun follows the rule "add -es" 
to make plural? 

(a) toy   (b) wish 

(c) day   (d) key 

5. Choose the correct plural form of 
"hero": 

(a) heros  (b) heroes 

(c) hero's  (d) heroies 

6. What is the plural form of “child”? 

(a) childs  (b) childes 

(c) children  (d) childern 

7. Which of these nouns is always used 
with a plural verb? 

(a) news  (b) scissors 

(c) physics  (d) business 

8. What is the plural of “goose”? 

(a) gooses  (b) geese 

(c) goosen  (d) goose 

 

9. Which of the following words does not 
follow a standard plural rule? 

(a) toy → toys  (b) knife → knives 

(c) fish → fish  (d) box → boxs 

10. Which of these is not a plural form? 

(a) leaves  (b) torches 

(c) pianos  (d) oxen 

B. Match the Following (5 Questions) 

(Match singular to their correct plural)  

Column A 
(Singular) 

Column B 
(Plural) 

1. Mouse a. Mice 

2. Lady b. Cities 

3. City c. Ladies 

4. Foot d. Teeth 

5. Tooth e. Feet 

C. Subjective Questions 

1. Write the plural forms of the following 
words: loaf, leaf, buffalo, story, child 

2. Identify and correct the errors in the 
following sentences: 

(a) The cattles are grazing in the field. 

(b) The scissor is sharp. 

(c) We saw many deers in the forest. 

 

 

Nouns : Number 



 

3. Write five nouns that have the same form in singular and plural. 

4. Explain with examples how the plural is formed when a noun ends with “-y”. 

5. Describe a visit to a zoo using at least 5 plural nouns. 


